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D 328x14 @ 328 x0.14 3 0.328 x 14

@0.0328 x 14 ® 3.28x 14

rlo

B

D 328 x 1.4 = 459.2

@ 328 x 0.14 = 45.92

® 0.328 x 14 = 4.592

@ 0.0328 x 14 = 0.4592

® 3.28 x 14 = 45.92
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@ [ ]x0.032=0.056, [ ]=175

® 175x[ |=560, [ ]=0.32

B

@®175x32=[ ], [ ]=56
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@[ ]x0.032=0056, [ |=175

® 175x[_]=560, [ =32
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> =l 2907

45x38x1.7=171x1.7 = 29.07
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D 2x02=14 @ 3x0.03=0.9

@5 % 0.005 = 0.025 @ 2.3 x0.002 = 0.046

® 4.5%0.003 =0.135
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Ed Al4ts B2 1 X9E o2 254
D2x02=04

@ 3 x0.03=0.09

@ 2.3 x0.002 = 0.0046

® 4.5 x0.003 = 0.0135
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(d 2] Ao]) =(H 1=9] Ao]) =8cm
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L"-12cm~-~ = =

>
> HE: 18cm

A4 e dA4gdce2 gEolEs
(HLa)=H c2) =12cm ]2
ALy co]dorpgoEr M L2

(60 — 24)+2 = 18 cm YUt}
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6875  6875+625 11
0.6875 = - _u

10000 ~ 10000 + 625 16
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gt o] FA7E 620 w=ATE U o] 2R 5459 Tl B
kg 1] FSHA 2.

1kg =1000g, 1g = 0.001kg
620g = 0.62kg, 0.62 x 54 = 33.48(kg)




19. ol® 4o 842 Falop & 21 ARste] HataEY 18.10] W%
et dhes) ALE G 2R AL go] 48 et

)+8.4 =18.1
)=181-84=97

HE2 AAF: 9.7 x 8.4 = 81.48

— 81.48 - 18.1 = 63.38
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(k=] Hol)- (AzEg ) Hel)
= (35+54)x28%0.5-3.5x2.8
= 12.46 — 9.8 = 2.66( cm?)




